>
A & 0l & AF 2 E A A
20158 & =0l & L BHSI A AbSI = X 1t
SN ALSI S X
M M =2X SEHAH
o2l ALZI S X MBlA gt (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
At = X ot 240,446,859 259,103,481 A 18,656,622
= 155,199,740
X 9,177,000
< 68,470,119
£ 7,600,000
M2 =X S 10,281,697 10,314,412 A32,715
= 13,000
X 8,306,000
< 1,962,697
MBI =X MHIA & 10,061,697 10,153,372 A91,675
= 13,000
Xl 8,306,000
< 1,742,697
SNHHEA 25 29 6,000 6,000 0
201 Let249H] 6,000 6,000 0
01 At 22l 6,000 6,000 0
OAt2=XI20F 24t HElHA 29 6,000
KNS ARI MBI A EXALE F=& 9,112,000 9,321,422 AN 209,422
X 8,159,000
< 953,000
308 XX EHHSOIA 9,112,000 9,321,422 AN 209,422
Xl 8,159,000
< 953,000
01 HIXNHHBNEES 9,112,000 9,321,422 A 209,422
OXGAS MBI A S XA 9,112,000
Xl 8,159,000
< 953,000
SHAAEXNE A 29 L AISXUL20F 22 559,600 357,350 202,250
A&
307 gl2tol & 504,600 317,350 187,250
04 DI2HHALALSE E X 30,000 0 30,000
OAMEIEXIS & &A XI& 30,000
10 ALSISXAIEEE2GHEX 393,534 317,350 76,184
OsdAMaEXNE2ds 24 201,000
OBYBARCYT 29 77,100
OAMASSEELHH 23 83,000
OA=SXNEEME 29 32,434
11T MISXASER 81,066 0 81,066
OAZIEXIAIE 22X 824 Za & &4 36,350
OsEZIZtY3 AY 12,900
OAMASSEELEH At 17,000
OMII=SXNZFEHH At 14,816
403 X SHHSA=0l& 55,000 15,000 40,000




AN ALEI =X

g M=K SEXNE

el ALBI= X MHIA B4 9 EE)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o e 2
01 AXSHMA=2EE 55,000 15,000 40,000
OHE MI=SXEAS(FEYWT) 30,000
OHE slLUsAHIASAE JIsE 25,000
NAASIEX & 151,747 100,000 51,747
= 13,000
< 138,747
201 Ler24E] 13,000 0 13,000
= 13,000
03 A2 Z Hl 13,000 0 13,000
OXZ At =SXEAH X SHa 13,000
= 13,000
301 et A=z 20,000 20,000 0
MIEEd3 20,000 20,000 0
Oz &2 fIz2a A& 20,000
308 AHAIEHHSOIA 118,747 80,000 38,747
01 HIXNHHNBHEES 118,747 80,000 38,747
OXgAsIEXNEAN 29 118,747
SEXNEH HE=EH 22,350 11,350 11,000
201 Let24E] 11,000 0 11,000
01 At 2t 2l 11,000 0 11,000
OAZIESXIAIE EIOIRIE =2 11,000
203 YR =] 11,350 11,350 0
03 Al =AY R4 11,350 11,350 0
O=2XEAH JL2FA 8,500
OAMsl=X g2=2 2,850
TANSNUIAXIRS 29 210,000 210,000 0
Xl 147,000
< 63,000
307 glz2tol & 210,000 210,000 0
Xl 147,000
< 63,000
10 ALSISXAIEEE2EHEX 210,000 210,000 0
OsEXNIAMAMBIAXRAStE 2H 210,000
Xl 147,000
< 63,000
ASIZ X AlE &5 2 K& 220,000 161,040 58,960
MBISXAIE M 912 40,000 40,000 0
301 et a3z 40,000 40,000 0
01 AR 2Z A5 3 40,000 40,000 0
OMEISXIAE HEX A2 40,000




SN ALSI S X
M M =2X SEHAH
S MEER AL =235 & X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SEME2 JIsEH 180,000 80,000 100,000
403 XSS A=0l& 180,000 80,000 100,000
01 X SHMA=2E X 180,000 80,000 100,000
OBEAa=X2 JsES 30,000
O3ZAsEX2 JIsEZ 25,000
O2FAs =X Jls22 125,000
gz ¥ A 2,258,000 2,018,037 239,963
2& 2 ¢ X 2,258,000 2,018,037 239,963
28HH A& 660,000 702,937 A42,937
307 glz2tol & 610,000 593,000 17,000
03 BIAHNHE2IHIEL 500,000 0 500,000
OEsHHd 2% 43t 380,000
OsdEs3s& 22l 22 120,000
04 DIZHHALALSE E X 110,000 0 110,000
OB&Hd IUHe dEX = 110,000
402 RIZ2EXt20l ™ 50,000 109,937 A 59,937
01 It =2 AL B X 50,000 109,937 A 59,937
OLEHH Al 2 MR JIsEL 50,000
S04 X 165,000 157,100 7,900
301 et A3 90,000 83,100 6,900
01 MI28E+06l= 90,000 83,100 6,900
O=Jts3x /A2 90,000
307 glz2tol & 75,000 74,000 1,000
01 22272l 70,000 70,000 0
O=SgR3A 2d=zH XA 70,000
04 QIZFHALAIH B = 5,000 0 5,000
OtgE=U04 X& 5,000
EEANE HE 2 IIsES 1,320,000 1,105,000 215,000
402 RI2EX 20| ™ 1,000,000 1,000,000 0
01 B2t AL E X 1,000,000 1,000,000 0
OZEEE3d Z8AY 1,000,000
403 UtXISHH S A= 0l& 320,000 105,000 215,000
01 XM A2E X 320,000 105,000 215,000
ORdE=sa 2g XA 200,000
O=4Z SEA JIsEZ A 120,000
A & o S 113,000 53,000 60,000
307 gl & 83,000 10,000 73,000
04 DIZHHALALSE E X 83,000 0 83,000




2N

Ha: 2E¥el 2 N
oelr 2@ el 2 XY (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET

OuectAtg =3lu= 12,000
OCELSHMEENS etBH 13 30,000
O105FE F=3XY A 9,000
OF&H 1550t BSFHA 5,000
OfRs+2Xa UetAg 2&E=d 10,000
OSE X0l -2 A 10,000
O4.1988F AL 2HF 7,000

308 XXIEHHSOIA 30,000 43,000 A 13,000

01 AXHHBIYEES 30,000 43,000 A 13,000
OSE&EY dAXA 30,000

I MEEH 157,439,481 188,380,029 A 30,940,548
= 139,398, 155
Xl 871,000
< 17,170,326

zHEEY 25 2 X2 157,439,481 188,380, 029 A 30,940,548
= 139,398, 155
Xl 871,000
< 17,170,326

JzMa8ds0 XA 121,543,179 152,168,625 A 30,625,446
=2 108,038,381
< 13,504,798

308 XtXIEHHSOIA 121,543,179 152,168,625 A 30,625,446
= 108,038,381
< 13,504,798

01 X HHILEES 121,543,179 152,168,625 A 30,625,446
OJdIzdas2&d a0 X2 117,854,304
= 104,759,381
=) 13,094,923
OJ=MEaEZHZ0 XN (RE20) 3,688,875
= 3,279,000
< 409,875

LSRN 4,755,600 4,671,000 84,600
= 4,617,200
< 138,400

308 XXIEHHSOIA 4,755,600 4,671,000 84,600
= 4,617,200
< 138,400

01 AXHHIYEES 4,755,600 4,671,000 84,600
OJIz=5 A &3 &eX& 3,510,000
= 3,510,000
OXAAAE &= XS 1,245,600
= 1,107,200
< 138,400

212 =X Xl &4l 3,791,250 3,791,250 0
= 3,370,000

_4_




M AR =X
o RO EMBEE
el JIzMEsEd 25 & & (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 421,250
308 XXl S0l A 3,791,250 3,791,250 0
= 3,370,000
< 421,250
01 IXNSHHBANEES 3,791,250 3,791,250 0
O2==RX X& 3,791,250
= 3,370,000
< 421,250
S Atcll 22l AL T AHl K& 918,223 918,223 0
= 706,325
< 211,898
308 XX EHHSOIA 918,223 918,223 0
= 706,325
< 211,898
01 AXSGHBELS 918,223 918,223 0
OSE At 22l AL 124l K& 918,223
= 706,325
< 211,898
SEEXNXNIAANLE 2S X 107,634 107,634 0
201 LBH2E| 10,000 10,000 0
01 At 2t 2l 10,000 10,000 0
OAMdAZelAr E8us S5 29 10,000
308 XXIEHH S0 A 97,634 97,634 0
01 AXNHHBANEES 97,634 97,634 0
og=3IsXNad 28 N& 97,634
=3SA MEAMA N (Aredl2el Al 2g) 103,162 103, 162 0
= 103, 162
308 XtXIEHHSOIA 103,162 103, 162 0
= 103,162
TRAXNEHEHEELS 103, 162 103, 162 0
OAtell2el Atg 29 103,162
= 103, 162
S3=A EEHA HA 4,578,000 3,696,000 882,000
= 4,578,000
308 XXM SO0 A 4,578,000 3,696,000 882,000
= 4,578,000
01 AXSHHBLAEES 4,578,000 3,696,000 882,000
O%Ed NESXNHELHMA KA 3,381,000
= 3,381,000
O=USA AEY SANHLHMA AFOHES
o) 1,197,000
= 1,197,000
ANEZ22AME X & 13,764,375 14,771,700 21,007,325




SN ALSI S X
My RO EMBEE
Cel JIZMESE 25 2 AY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 12,235,000
< 1,529,375
308 XXM SO A 13,764,375 14,771,700 A 1,007,325
= 12,235,000
< 1,529,375
01 AXHHILEES 13,764,375 14,771,700 A 1,007,325
OX&Z2Z A K& 13,764,375
= 12,235,000
< 1,529,375
A& At 22l 66,033 45,050 20,983
= 54,381
= 11,652
308 MtXIEHSOIH 66,033 45,050 20,983
= 54,381
< 11,652
01 HXNHHNBHEELS 66,033 45,050 20,983
OX-&Atefl 2el XI& 66,033
= 54,381
< 11,652
SEEIEPNE= 330,300 694,000 ~363,700
= 264,240
< 66,060
307 glz2tol & 330,300 694,000 A 363,700
= 264,240
< 66,060
11T M 2XASE EX 330,300 0 330,300
OslgelzAad 330,300
= 264,240
< 66,060
ANETtedH2Y 2,867,900 2,867,900 0
= 2,361,800
< 506,100
308 XXIEHH SOl A 2,867,900 2,867,900 0
= 2,361,800
< 506,100
01 AXHHIYEES 2,867,900 2,867,900 0
OXdxady 299 2,867,900
= 2,361,800
S 506,100
Z2ATEHH 29 468,440 0 468,440
= 327,908
< 140,532
307 gl2tol & 468,440 0 468,440
= 327,908
< 140,532
10 AL SXAIEEE2EH EX 468,440 0 468,440




AR RPN
H: 20I=MEEH
Cel JIZMESE 25 2 AY CERED
5 - 4
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
OsgZazgdy 29 X2 468,440
= 327,908
< 140,532
PN S =N 987,435 940,500 46,935
= 877,720
£ 109,715
308 XXM S0l ™ 987,435 940,500 46,935
= 877,720
£ 109,715
01 X EHHBLEES 987,435 940,500 46,935
Oxgzes XA 987,435
= 877,720
= 109,715
|FIN=sE N2 2,084,450 2,201,600 A117,150
= 1,864,038
= 220,412
307 21240 526,480 0 526,480
= 414,736
< 111,744
M AMSIMNSEX 526,480 0 526,480
Osl2IssE II(XHa=AAHS) 462,000
= 369,600
£ 92,400
OIS SH I (XNARAAS) Atllzel 24 64,480
= 45,136
= 19,344
308 XtXI &t X S0l & 1,557,970 2,201,600 643,630
= 1,449,302
< 108,668
01 HAHHBdEES 1,557,970 2,201,600 643,630
ogusssd | Ol==37) 1,557,970
= 1,449,302
= 108,668
JbArZtE &= 2t el ALRI & 1,031,500 1,341,254 A 309,754
Xl 871,000
= 160,500
308 XX SIS 0| & 1,031,500 1,841,254 309,754
Al 871,000
= 160,500
01 XM BaE2ES 1,031,500 1,341,254 A 309,754
OJtAIZtE S E 22l AL XT3 1,031,500
Xl 871,000
S 160,500
C=0dE2g 42,000 35,475 6,525
308 XXM S0l ™ 42,000 35,475 6,525




A AMIEX
M. ZOI)|XMESE
ool JZMESE 25 U X8 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 IXHHNIMNEXS 42,000 35,475 6,525
Ok=90 #4249 Xd 42 000
ors=2xzsd 36, 110,630 32,936,206 3,174,424
=2 15,788,585
o= 12,722,045
= 7,600,000
Olsslat Z2dMeE =& 36, 110,630 32,936,206 3,174,424
= 15,788,585
= 12,722,045
£ 7,600,000
MEoty X & 18,337,950 15,753,605 2,584,345
=2 3,495,285
= 7,242,665
= 7,600,000
307 QI2t0| ™ 80,000 76,800 3,200
10 A SXANANEEHESIGHEX 50,000 76,800 A 26,800
Ools=EA&dE)|& 22X HRA 50,000
11T A EXAIEEX 30,000 0 30,000
OXgXoz ) 249 30,000
308 ANXICSHHMSOIA 15,772,950 13,687,055 2,085,895
= 1,855,285
= 6,317,665
£ 7,600,000
01 IXHHIMNEXS 15,772,950 13,687,055 2,085,895
O AOls AdEE2XZ2 X 126,650
= 104,300
= 22,350
OgAots s I 1,049,750
= 864,500
& 185,250
OYe=0|2t 2K 25,500
= 21,000
= 4,500
ogxadlE N 23,660
= 19,485
= 4,175
Ootse <X HX X 612,000
= 504,000
== 108,000
Oz 29 1¥ 513,000
= 342,000
& 171,000
Os)s EZdssY Ots=2a XA 7,600,000
£ 7,600,000
ogsts olsa24Ad XN S 3,214,000
OtssXNAIE 28d X3 1,840,000




AN ALEI =X
3 ois=Asd

o9l 0lSEY ZRME £X

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ea0ts NHEEEHS N 105,000
OJEAEEsots(AEAEHNE) XL 93,600
ElA0ls 2HEFS HS N 15,000
OAlE0tE Al HE =&dl XI& 67,900
OAlE0ots IHE =AY 20,000
O0ed20ts A= XA 30,000
O0e20ts 2tAalHl XI& 168,000
OOsSEXAE 22X HRHMH 250,650
ORESOs MHEANFEZZOH XA 15,000
OE=Z/EIIE 22X NE 3,240
403 UHXI S E X201 H 2,485,000 1,989,750 495,250
= 1,640,000
< 845,000
01 X HHMA=ZLE L 2,485,000 1,989,750 495,250
O0sS=EXAE JIsE22AY 2,460,000
= 1,640,000
< 820,000
OOts=XAIE JIsE2Z AL (XHA) 25,000
sts8d &4 10,659,600 10,703,333 A 43,733
= 7,640,000
< 3,019,600
307 21201 A 26,000 0 26,000
11T MISXASEEX 26,000 0 26,000
OAE0tEs A8 E3tHE N 26,000
308 X EHHSOIA 10,633,600 10,673,333 A 39,733
=2 7,640,000
< 2,993,600
01 AXNSGHBLEES 10,633,600 10,673,333 A 39,733
OflFstots SE2&EsHl K& 39,600
OXgotsdyd 29 X 8,138,000
= 6,260,000
= 1,878,000
OXYotsdEH EQ29 XI&(XHA) 67,000
OXdotsMe Hkberyl XI& (XA 38,000
OX<gotsdH nwidl XI& 66,600
OO0ts= X WA XI& 1,794,000
= 1,380,000
< 414,000
Od=20=s XA 210,000
O31Dw MM =AM X 180,000
O0lgs SAg de X3 6,000
OAlZ0ots 378l X2 6,000
ORES0s Hstgsts K& 75,000




AN ALEI =X

3 ois=Asd

ool OlSEY ZRME X (el:de)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2

OX<E0otsHyH ot EAH K& 13,400

obM & A A 6,844,080 6,263,896 580,184
= 4,553,300
o= 2,290,780

201 Bt A H| 50,200 51,100 A 900
= 34,300
o= 15,900

02 33249l 50,200 51,100 A 900
OJIEAEOs AdHEE Jtel 49,000
= 34,300
== 14,700
O2EAUEHIIEOlS MolE2E Y 1,200

307 212t0| & 2,007,300 1,439,846 567,454
= 19,000
& 1,988,300

10 AIRISEXAIEHE2IHIEX 1,742,600 1,439,846 302,754
OllsEsEI2I & 29 1,200,000
20| 29 242,600
OJIE/AEXNANH 29 300,000

11 AMIASAAEEX 264,700 0 264,700
O&SBs igtns ¥ =52 10,000
O0tssl =2 & = 20,000
OEA0SUHY MBS UEY X 13,700
ONglol2ted AL =& 80,000
OeEsS0ls ML= 5,000
ORES0s WELN=S 5,000
OH20ts =8 s 249 60,000
Osdots2URU=sH 20,000
OLAINE/AEOS MelXS K SAAL 27,000
= 19,000
= 8,000
O AA Melxz K& 24,000

308 AKX SHHSOIA 4,786,580 4,772,950 13,630
= 4,500,000
= 286,580

01 AIXHMBAEXZ 4,786,580 4,772,950 13,630
O0lsSEXNHLDNESESAHHA(ESAEIE))XNL 4,500,000
= 4,500,000
OgaAI& 2 XA (XE0l) 15,000
OHMI933] oglolg AL X 30,000
Od20ts EssEEY I 3,000
OH20ts AL ZB&H K& 1,980
OREs0ls 2JIMgz=z0d X 6,600
OANMEA0IS dalEEE XA 24,000




2N

X{ XH -
S =

Akl = X1 ot
ors=EXsd

o9l OS5 Y T2ME =X CER-ED
(o
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
OFNELZZIY K& 98,000
ObdtH A& sH XA 98,000
OZd ooy siAb NI 10,000
HMEANHA 25 269,000 215,372 53,628
= 100,000
& 169,000
307 QI2t0| & 243,000 201,372 41,628
= 100,000
& 143,000
10 A SXNANEEHESIHEX 140,000 201,372 NB1,372
OX<E0otsHdEH sEXC 29 A& 140,000
= 70,000
&< 70,000
11T AISIEXAIEEX 103,000 0 103,000
OO0ISEXNAE SAA /38 13,000
UMMM ARAY U AHHIE DS 30,000
OXNY0tsHH s2Xadt 89 K& 60,000
= 30,000
= 30,000
308 ANXICSHHMSOIA 26,000 14,000 12,000
01 IXHHIMNEXZ 26,000 14,000 12,000
OX<E0otsHdyH AR2AESG A& 17,000
OXYotsHdy 2448 X 9,000
HEE S (AEX D) 34,301,271 25,399,017 8,902,254
WEAHA K= 34,301,271 25,399,017 8,902,254
o230 II2 S83H N&E2 34,301,271 25,399,017 8,902,254
701 JIEISI HSHES 34,301,271 25,399,017 8,902,254
01 JIEIS HEE 2 34,301,271 25,399,017 8,902,254
OozZ2HIIZ2EEIH &2 34,301,271
HAMSHAY (A3 22X D) 55,780 55,780 0
JlE2AHl (AF3I 2 X H) 55,780 55,780 0
Jl2 &4l 55,780 55,780 0
201 B9 26,600 26,600 0
01 AP 22| H| 26,600 26,600 0
OME=EX SRF4A 26,600
202 04 d| 26,180 26,180 0
01 2Ll 26,180 26,180 0
OMISKX YFF& 26,180
203 ¥ R =&t 3,000 3,000 0
04 FEASHEYIFFEH| 3,000 3,000 0




2N
X ZH -
L= B

el

Akl = X1 ot
HH 2L ZH (A3 =X
Jl23l(Atg = Xl 1)

SN FH-SA(EN) - MBAY - BES

Off &t 24

=
i

2

O Atz =X 1t

3,000




